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SOLUTION 
Q. 1 Attempt any ONE of the following:       (08) 

         
(a) f(t) =(70*exp(-1.5*t))+(25*exp(-0.075*t))-9.0 
 devf(t)=(-105*exp(-1.5*t))+(-1.875*exp(-0.075*t)) 
 t=t0-f(t)/devf(t) 
 dt0=((t-t0)/t)*100.0 

The solution is converged and the value of the t is 13.62201 with error dt0 = 6.2007673E-
02    
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cl = 12 and cu = 16 as function changes sign –ve to +ve and converges at sixth iteration 
with the root ie c = 14.75 and error is less than 0.5%    

 
         
Q. 2     Attempt any THREE of the following:      (12)  
 
(c) The density of a cube is measured by measuring its mass and the length of its sides. If the 

maximum errors in the measurement of mass and length are 3% and 2% respectively, find 
the maximum error in the measurement of density. 
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(d) Evaluate the sum 3 5 7S    to 4 significant digits and find its absolute and relative 

error.  

    

3 1.732, 5 2.236, 7 2.646
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so correct significant no is three ie 6.61 and relative error is 0.0015/6.61 = 0.0002.  
     


